


















Avg T () 

1    N = User Defined (n)        /* Time of Average Data Transmission
2 Avg T = 0                          /* Initial Average Data Transmission Rate
3 For i = 1 to N
4           Avg T = Avg T + ti /* ti = Data Transmission Rate per Second
5 Print Avg T
6 Stop 



Target Value (Avg T) 

1 threshold = User Defined /* threshold = Data Transmission Rate 
Threshold To Determine the Target Value 

2    if threshold  Avg T                   /* Avg T = Average Data Transmission Rate
3             target = 1                            /* target 1 means user active
4 else
5             target = 0                  /* target 0 means user not active










